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1. Convert the measure to radians.
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3. Express the angle in radian measure in terms of 1.

Do not use a calculator, R(°
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6. Use the unit circle and symmetry to help you evaluate the
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function(s).
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4, In which quadrant is the terminal side of the angle 87
f=-32(°

[A] Quad I [B]Qud Tl [C]Quad Il [D] Quad IV

5. Use the unit circle and a straightedge to approximate the value of
the expression.

cos{— 4.25)

fA]l 045 (B] 0.89 [C] —-045 (D] -0.89

7. Use the period of the function to select the expression that has the

_ , , [ 119n)

same value as the given expression. sin __..i.gm
. Hm . 4n . T . T
A —_— sIn — Cj sm— D] sin—
[A] sin T [B] 15 {C] 5 (D] 5

8. Identify the ratio that defines the trigonometric function of the

angle @, sind
(a] £ B £ [c] 2 m £
a c b
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9. Identify the ratic — for the indicated angle and find its value.

C
(A} an60°=+3  [B] sin60°= l?

[D] sec 60° = i

[C] cos60°= i
2 2

15. Find the exact value of the function.

[A] V2

csc {(—315°)

) 3 (D] ¥

B]1
(B] 3

16. Factor the expression and use the fundamental identities to
simplify. cos’x —2cos’x +1
[A] ~sin’x  {B] sin’x 11 [D} cos’x

17. Cotrvert all of the terms to sines and cosines and simplify to find

' . e S88C X
the expression that completes the identity, =
tan x
sin’ x sin’ x
{Al 5 (B] — (€11} D]
COs" X §In X COS X

t0. Let @ be an acute angle. Use the given function vahie and

trigonometric identities to find the indicated trigonometric function.

If csc @ = —2—5, find sin 8.
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18. Tdentify the x-values that are solutions of the equation.

12cot’ x—4=0

Z Stx Tr Um X 2n 4m Sx
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11. Use the fundamental trigonometric identities to determine the

19, Identify the initial and terminal points of a vector that has the
same direction as v,

ral (0, -3) 1o (6, —10)
[Cl (-4, -2) 10 (3, 4)

B) (-4, -2} to (—10, 5)
D} (0, =3)to (-7, 3)

simplified form of the expression. sec f
cse 8
[A} cos 8 [B] tan 8 IC] cot 8 (D} sin J
12. Identify the quadrant in which & Hes.
sin>( and tan <0
[A]Quad I [B] Quad If [C] Quad IT1 [D] Quad IV
For #13 and 14, find the reference angle &',
13 =20
6
L3 m S T
Al —— B] —— ] — D} —
[A] c (B] p 8 g {D] p
i4. =19
[A] 19 [B} 43832 [C] 12416 [D] 0.3292

20. Identify the vector with the same magnitude as v.

v=AB with A=(0,0) and B=(5,5).




21. Identify the pair of points that could be the initial and terminai

peints of the vector.

[A] (-6, 4) and (-1, 2)
(€] (-3, )and (-7, —4)

u=(2,-5)

[B) {0, 3} and (-5, 1)
D] (-1, 2} and (1, -3}

25. Find the number by which the components of the vector can be .
divided to find the unit vector in the same direction,

u=9i~7j
[A] 4+/2 [B] 130 [C] V130 [D] 65

22, Identify the imitial point of vector v.
Given that v = {— 3, —3); terminai pointis(3, —8§)

[a1(-5, 6)  [BI{9, -2) [CI(6, -5} [0, ~11)

26.Express +/— 3 in the form &f where b is a real number.

[B] +/3i €] V=3 D] -3

(Al -3

23. Use the figure to identify the graph of the result of the specified
vector operation,
vi+w

[A] {B]

(€] (0]

27. Which is the complex number in standard form? 4 91'2

[A] O+ [B] ~9+i [C] —8 D} ~9—i
28. (- 6+6i)(— 1+ 7i)

[A] 48360 (B} —36+48i

[C] —36-48i (D] 48—-48i

29. (—4+5i)+(~6-7i)

[A] ~10+2i (B} —10-2i

[C} 2+12i [D] 59-2i

For #30 and 31, simplify and write the result in standard form.

24. Letu=—9i+2]j and v =51 — 3j. Find 2u~ 5v.

[A] ~18i+15]
[C] ~2i+6j

B} 7i+11j
[D] ~43i+ 9]

40, =78
5
3548 — 7 —8i
A B
(Al 25 (3] 25
35+8i - T -8
C D
[Cj 5 (D} 3
31 -3+4+3
—3 i
3—6f 3 6f 12+6i 12+ 6f
A B C D N
[A] g {B] g [€] P (D} 2
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32. Selve for x. Tx2+45 =0
R . .
[A] x = +345i (Bl x = 3435
7 7
+ ,
[cu=:~“£_—i D] x = £34/5

37. The needle of the scale in the bulk food section of a supermarket
is 22 cm Jong. Find the distance the tip of the needle travels when it
rotates 64°.
{A]24.6cm [B] 140.8 cm

[C]123 cm [D]39cm

33. At a distance of 31 feet from the base of a flag pole, the angle of
elevation to the iop of & flag that is 3.1 feet tall is 41.1°, The angle
of elevation to the bottom of the flag is 35.2°. The pole extends 1
foot above the flag. Find the height of the pole.

[A] 234 ft [C] 28 £t

[B] 224 ft D] 27 ft

38. Use the given measures and the Law of Cosines to solve triangle
ABC.
a=12, b=21, c=13

[A] A=972°;, B=242° C=586°
(Bl A4=114.2°, B=314°, C=344°
(€] A4=242°;, B=972°, C=586°
(D] A=314° B=1142°; C=344°

34. Use the given measures to find the area of triangle ABC.

A=23°,a=92, =92

[A]29.40 [B] 60.88 [C] 16.54 D] 30.44

39. A 16-foot ladder makes an angle of 66° with the ground as it
leans sgainst a building. How far up the building does the ladder
reach?

[A] 3594 ft [B] 6.51 fi

[Cl1462 1 M17.51 1

35. A hiker travels at 2.5 miles per hour at & heading of S56°E
from a ranger station. Afier 5 hours, how far south and how far east
is the hiker from the ranger station?

[A] 7.0 miles south and 10.4 miles east
[B] 10.7 miles south and 6.5 miles east
[C] 10.4 miles south and 7.0 miles east
(D] 6.5 miles south and 10.7 miles east

36. A pole 55 feet tall is situated at the bottom of a hill that slopes
up at an angle of 12.5°. A guy wire from the top of the pole to the
hillside forms an angle of 40° with the top of the pole. Find the
distance fiom the base of the pole to the guy wire’s point of
attachment.
{A}399 1 {B}137.14&

[C)38.7 ft [D] 35.2 f

40. The cable supperting a ski lift rises 3 feet for each 8 feet of
horizontal length. The top of the cable is fastened 637.5 feet above
the cable’s lowest point. Find the lengths b and ¢, and find the
measure of angle &,

637.5 1t
g
b
[Al b=1816 1 {B] =239t
¢= 17001 c= 081 f
e=22.0° £=694°
[C] b=06811t D] b=17001
c=23%1t c=1816ft
g=04° 6=20.6°



